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1) Convert the following improper 2)  $203.00 earning 10% compound 3 )
fraction 5 + 61/, into a mixed interest for 8 years. Find the next three numbersin
number the sequence

2446688 , ,
Answer: Answer: Answer:
4) 5) Find area of triangle 6)
s s s=54m
‘Name the type of angle. < '‘Name the type of angle.
Answer: Answer: Answer:
7) Find areaof triangle 8)  Factorise 3x2+ 18x + 15 9) Factorise 3x2 + 18x + 15
a=72in,b=80in
b [
a
Answer: Answer: Answer:
10) Find perimeter of 11) 99- 96 12) Round 28.67551434 to 6 decimal
sguare having each places.
s side (s) equals 40in
s
Answer: Answer: Answer:
13) 14) 15) 17 + (-53)
Find the next three numbersin Find the next three numbersin
the sequence the sequence
0112358 , , 0112358 , ,
Answer: Answer: Answer:

Copyright 2019 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

March 26, 2019

Sr: 26032019-1093

MATHS WORKSHEET [ Shrs

GENMERATOR

GCSES

16) 221+ 13 17) Find perimeter of 18) 16, -2,
b rectangle having
sidesa= 79 ft
a and b =63ft
Answer: Answer: Answer:
19) Find perimeter of 20) 20 \
square having each Find Volume of
s side (s) equals 59 ft Rectangular Pyramid
%010
s 18
Answer: Answer:
Total: /20
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Answers:
1) 1111/18 2) $435.15 3) 10,10,12, 4) Right 5) 1262.6650387177m 6) Right 7) 2880in
8) (3x + 15)(x + 3) 9) (3x + 15)(x + 3) 10) 160in 11) 3 12) 28.675514 13) 13,21,34, 14) 13,21,34,
15) -36 16) 17 17) 284ft 18) 150/1 19) 236ft 20) 1200
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